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ACCOUNTING FOR MANAGERIAL DECISIONS

(Wednesday, 11-12-2024) Time : 10.00 a.m. to 1.00 p.m.
Time—3 Hours Maximum Marks—80
N.B. :— (1) Question No. 1 is compulsory.
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(2) Attempt any four questions from Q. No. 2 to Q. No. 7.
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(3) Use of simple calculator is allowed.
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1. Compute the net monetary result of Suraj Company as on 31st Dec., 2015.

The relevant data are given below : 20
1-1-2015 31-12-2015

(Rs.) (Rs.)

Cash 10,000 20,000
Book debts 40,000 50,000
Creditors 30,000 40,000
Loan 40,000 40,000
P.T.O.
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Retail price index number :
1st Jan. 2015 — 400
31st Dec. 2015 — 600
Average for the year — 500

31 fedR, 2015 IS G &+ foxia qRomg TR &4, 1 Gaef=n Arfed
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1-1-2015 31-12-2015

(%.) (%)
e 10,000 20,000
EUED] 40,000 50,000
e 30,000 40,000
Ex| 40,000 40,000
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31 fedsr 2015 — 600
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A company has manufacturing a product at a cost of Rs. 625; the same product
is available in the market at Rs. 485 each. The breakdown of cost of

manufacturing a product is as follows : 15
Rs.
Materials 275
Labour 175
Other variables exps. 50
Fixed cost 125
625
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Suggest you either make a product in a company or buy from outside of a

company.
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Weekly wage rates of labour engaged on a job to be completed in 30 weeks

as follows : 15
Workers Standard Actual
No. of Wage No. of Wage
Labours Rate Labours Rate
Skilled 75 60 70 70
Semi-skilled 45 40 30 50
Unskilled 60 30 80 20

The work is actually completed in 32 weeks.

P.T.O.
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Calculate :

@) Labour Cost Variance

(7)) Labour Rate Variance

4 )

(zit)  Labour Efficiency Variance

@iv) Labour Mix Variance.
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A company is expecting to have Rs. 50,000 cash in hand on 1st April, 2020

and it requires you to prepare an estimate of cash position during three months

April to June 2020 : 15
Sales Purchases Wages Expenses
(Rs.) (Rs.) (Rs.) (Rs.)
February 1,40,000 80,000 16,000 12,000
March 1,60,000 1,00,000 16,000 14,000
April 1,84,000 1,04,000 18,000 14,000
May 2,00,000 1,20,000 20,000 16,000
June 2,40,000 1,10,000 24,000 18,000

(@) Period of credit allowed by suppliers two months.

b) 25% of sale is for cash and period of credit allowed to customers for

credit sale one month.
(c) Delay in payment of wages and expenses are one month.
(d) Income tax of Rs. 50,000 is to be paid in June 2020.
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(®.) () () (%)
e[t 1,40,000 80,000 16,000 12,000
T 1,60,000 1,00,000 16,000 14,000
e 1,84,000 1,04,000 18,000 14,000
7 2,00,000 1,20,000 20,000 16,000
SH 2,40,000 1,10,000 24,000 18,000

P.T.O.
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From the following data, calculate material variances : 15
Materials Standard Actual
Units | Rate | Amount| Units Rate | Amount
(Rs.) (Rs.) (Rs.) (Rs.)
A 200 5.00 1,000 200 5.00 1,000
B 500 3.00 1,500 500 3.00 1,500
700 700
Less :
Normal Actual
Loss 75 Loss 100
625 2,500 600 2,500
TTeiel Aifedioed Sl J=Rom= T 6
Ee =001} T &t
Rl 38 ThH RN 38 TochH
(®.) (%) (®.) (®.)
A 200 5.00 1,000 200 5.00 1,000
B 500 3.00 1,500 500 3.00 1,500
700 700
HH= e 75 arqe drel 100
625 2,500 600 2,500
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The following data are available in a manufacturing company for a yearly

period : 15
Rs. (in lakhs)

Fixed Expenses :

Wages and Salaries 9.5
Rent, Rates and Taxes 6.6
Depreciation 7.4
Administrative Expenses 6.5

Semi-variable Expenses (At 50% capacity) :

Maintenance and Repairs 3.5
Indirect Labour 7.9
Sales Department Salaries 3.8
Administrative Salaries 2.8

Variable Expenses (At 50% capacity) :

Materials 21.7
Labour 20.4
Other Expenses 7.9
Total Cost 98.0

P.T.O.
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Semi-variable expenses increasing by 10% between 65% to 80% capacity and

20% between 80% to 100% capacity :

Rs. (in lakhs)

Sales — at 50% capacity — 100
at 75% capacity — 150
at 100% capacity — 200

Prepare flexible budget at 75% and 100% capacity and forecast the profit.
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URed~= @9 (50% &Hda0) :

e 21.7
Sl 20.4
TR T 7.9
THU qeTd 98.0

314 g™ B 81 65% o 80% &HISTAM 10% = dled d 80% d 100% &THAGT=A
20% A dled :

%, ()
faswt —  50% &HdR — 100
75% &FHdoN — 150
100% &R — 200

75% 9 100% &THAeR Sedd STeNUsleh daR &y AU TRI=1 e dddl.

The Reliable Battery Co. furnishes you the following information : 15
Year 2022
First Half Second Half
(Rs.) (Rs.)
Sales 8,10,000 10,26,000
Profit earned 21,600 64,800
P.T.O.
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You are required to compute :

(1)  P/V Ratio

2) Fixed cost

3) The amount of profit or loss, when sales are Rs. 6,48,000.

4) The amount of sales required to earn a profit of Rs. 1,08,000.
(5) Variable cost for both the periods.
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